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1. %o R ot BBt o e Pl 4x4=16

Answer any fodr of the following questions :

() ﬁm@rﬂ CeRar AFR AW 24T FH @
= AM x HM.

Prove for any two non-zero values that
GM = AM x HM.

(b) <Ot BIE BN TR TR R
wRERens gt

Write the requisites of a good measure
of central tendency.
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(c) T X HF AN 7= PR T[S I
TFHO! A AL

Prove the relationship  between
coefficient of correlation and the two
regression coefficients.

(d) ﬁﬁ#mﬂmﬁmmw

HICEe 3]G |
Explain, with the help of a scatter
_ diagram, the different types of
——=orrelation.

(e) WWWWWWI

Explain cost of living index number.

(N I &N ReisR IR 9P @R AR 9%
g X ot fora

Write the additive and multiplicative
models used m time series analysis.

@) mm,,mwwmww
forat1 g =T IR BRI
forat | 4
Write the relationship between
mean, median and mode. Write

one éexample each of median and
mode.

2. (a)

( Continued )

( 3)

(i) e frmt RomeR g 97 Rfg 30 : 5
Calculate the value of median for
the following distribution :

ST (Weight) ~ FR9T SRY1 (No. of Children)
0-10° 10
10-20 : 14
20-30 19
30-40 17
40-50 13

(ul) were fiat Retee) amifde Roem da vt 7
Calculate standard deviation for
the following distribution : .

T/, . :0-10 10-20 20-30 3040 40-50 50-60
,“ _ Marks D - _
;3 . RaT R : 20 25 32 40 35 24
= No. of ‘Studenits - -
37 [ Or
(b) - (i) TS M eYR- W w Rl WY
Roeie 9 R 4

Calculate mean deviation from
' mean -with the help of the following

- data: | )
7, 10, 15, 22, 26
(i) oTe o oY ot I fady 74 5
Calculate mode for the followmg
data_
i ©:100-110 110-120 120-130 130-140 140-150
Income o \
I RY 10 14 - 29 17 13
No. of Persons ‘
24P/377 ( Tum. Quer )



- (i) oo T oA TR e

759 (5re)
Wages (%)
I WY
No. of P%zs

3. @ ()
(i)
(i)
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(4

@iF g w4

Calculate the coefficient of quartile
deviation for the following data :

10 14 20 13 8 6

m@mmmﬁﬁwmn

Write the four properties of
correlation coefficient.

oo fial O o[t I PR AoTEE
e i ClRECH S
Calculate Karl Pearson’s coefficient

of correlation from the data given
below : '

n=12, Zdx=-5, =dy=-6,

7

: 50-60 60-70 70-80 80-90 90-100 100-110

Tdx? = 225, Sdy? =704, Sdxdy =306

s frt Sy ot e AR 16
Sfereat :

Find the two regression equations
from the data given below :

x:35 42 20 50 72 64 60
y:40 48 24 60 84 68 56

( Continued ) *

) )

(@)

(iti)

4. (@ ()
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(5)

1%t / Or

ol I @ TR BIWRF AT BIRF
R QI gl . 4
Prove that the correlation

coefficient is the GM of the two
regression coefficients.

wre it oYRfR ot @it T
B 1N g 9 - 5
Calculate the coefficient of rank

correlation from the data given
below :

: 48 33 40 16 65 24 18 44 20
: 13 10 24 .15 50 20 16 21 18

oA 9 @ Pt PRI TR RN
I FRY AE W I @S
frésfa W= _ 7
Prove  that Karl Pearson’s
coefficient of correlation is not

dependent on the origin and scale
of measurement.

TT AT PRI W AOIRA
% forat ) ' 4

What are the different types of
index numbers? Name each of
them.
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(i) oM T @ RN oI AN ANy

(i)

A7 Pra IEI

Prove that Fisher’s index number
satisfies time reversal test.

o CTPGERY @ 4w I P PRI T
- fdr 7

Find the price index number from

- the following data using Paasche

and Laspeyres index number
formula : ‘

(7))

(ij) G PR g P G e
Brit) oo Fl we ot @RS Rz
TR PIRT Wef w4t 8
Write the three uses of cost of :
living index number. Determine the
cost of living index number from
the following information : .

SraM fSf& w3 5o %9
Items Base year Current year
T @) | R | @) | o
Price (¥) | Quantity | Price: (¥) | Quantity .
A 4 10 6 15
B 6 15 4 20
c 8 16 12 6
N3/ Or
(b)) IR @ YR PRI W
AR iR Wi Seome oSN
%t Bra IR |
Prove that Fisher’s mdex number
sansﬁes time reversal test and
factor reversal test.
24P/377

( Continued )

24P/377

A & =33 | Sfre I T R
Items Price of Price of Weight
: the Base year|the Current year
2" /Food 30 47 4
Q&R Fuel 8 12 1
FIIR/Clothing 14 18 3
¥4 ©¢l/House Rent 22 15 2
1</ Others 25 30 1

5. (@ (@) WWWWW@WW .
GrRet ferat | 4
Write a short note on seasonal
variation in a time series.
(i) S FEl ST R 4 ww AT
AR o IR RSt w2 5
Estimate trend values by using 4-

yearly moving average for ‘the
following data :

I : 2001 2002 2003 2004 2005 2006. 2007 2008
Year

R#F : 60 46 53 54 48 48 42 51
Sale -
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(i) Fwox I AR o IR wws Fat
YN | ggret @3t Py 1 - 7
Using least squares method,
calculate the trend line equation
for the data given below : '

7 : 1991 1992' 1993 1994 1995
Year
g4 : 104 100 96 86 75
Value

71331 / Or
() () G I T I@EIW AT @
y=12+1-44t (FRT 1990, tI G&TF
= 1 IQ) T TR 1995 it &
et ¥t Sferedt | 4
If the annual trend line equation of a
time series be y =12+1-44t (origin -
1990, tunit = 1 year), find the trend
line equation with 1995 as origin.
(i) ©® il OYI “[t ‘3-ILIPW D@ oG
Sfereat : 5
Calculate 3-yearly moving averages
from the data given below :
@I : 1975 1976 1977 1978 1979 1980 1981
Year

bl : 12 14 15 27 28 31 29
Price
(i) F& =N Rorr Ry oS ANkEer
R wieEs w1 3+4=7

Discuss the uses and limitations of
time series analysis.

* Kk Kk
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